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Find the total number of numbers lying between 100 and
| The coefficients a, b, ¢ of quadratic equation ax™ + bx = ¢ = 0 are

1000 formed using 1, 2, 3, 4, 5 and divisible by either 3 or 5. obtained by throwing a dice thrice. The probability that It has

equal roots is
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Q A man on top of a vertical tower see aboat Mp gy
bcadodmam:':mmrdsﬁwfomuth!m:t Answer D
2 paint A, the angle of depression of the boat at
the point in 30°. Boat measure with uniform
speed and ignore beight of the mass, After 20 5,
the angle of dapression change to 45° at point
B, Find time taken by boat to reach foot of the
tower from B, foot of the tower at same Jevel.
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Locus of centre of a circle which touches x’ + y' — 6x — By
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(£,3,z) arereal mass

Answel' A » PR and (x+y+2z)>0andxyz =2

A =] then find:x* +y' +2° _
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Probability density curve for 3s orbital
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Statement 1:Ce0; is used for oxidation of ! ) % \
aldehyde and ketone 1 |', 1 ! —
t " 4 <
Statement 2: Aqueous solution of EuSOy acts as t A
strang reducing agent PALEL i & Ll :
A }
A, Both statement true ez >
B. Statement 1 true 2 false ' . B
Statement 2 true 1 false C Ve
D, 8oth statement are false Ans. A D o
SnCl, /H.O
CH3 CH; CN /My
i . ] arc orthogonal then relation PbSO, /H..
batween a, b, c, d s Answer A

A. CH3CH; CH;0H
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C. CH;CH; COOH
C. CH;CH;CHO



Glycosidic linkage on lactose at which no. of C
atom

Ans. Galactose C; - C: Glucose
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A a+b=c+d B ab

% a-c=b-d D Nooe of thoss

Which of the following is responsible for male

secondary sexual characters
A. Progesterone B. Estrogen
C. Testoterone D. Penis

Answer C

What is the product formed in the following reaction?

-“%Knswer D

Match the following physical quantities with the correct dimensions ? i
1 2
h (planck’s constant) ML a'TY
KE (kinetic onaray) M'LTY
V (voltage) ML
P (momentum) mLTy

Ksp of AgCN is 1.2 x 10-*¢ find the solubility of
AgCN
Answer - Square root of KSP

i
MSMIR”A&!molvelnﬂ'imkmsﬁ’=1mkm.
Find T,: T, (4.25)
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The pitch of a micrometes screw gavge is 1 mm and the circular scale has 100 D

visison. Whets there [s nothing between the jma, the zero of the drcular seale HC = cH Red hot Fe COMIIAT,
i & divisions balow the main zeale, When a wire o put butwwen the juws, the it = AlC] [x] >y
| ision of main scalc Iz visible and T2nd divisicn of crculnr weale caincides with 3

| man scale. The rachus of wire Is?

Find the no. of sp? hybridised C-atoms in 'X’?

A 6 B. 4

o o .
If 2 traln engine crosses & signal with a velocity u & has constant acceleration

and the last bogey of train crosses the signal with velocity v, then middie point of Which molecule does not exist
train crosses the signal with velocity 7

:ﬁ: Answer D
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A. Be; B. Hej'
C. Hel D. Of

Answer B
Ans. A
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Which of the following is the correct statemen
about diborane?

Which of following does not hydrolysis
A. BF: B. PCls A. BH: is lewis base
C. SFe D. SiCls B. All B-H-B bond angle is equal to 120

Answer C C. All B~H bonds have same length

D. Terminal H have less p character then bridge

Answer D

The distance of two polnts from the center of o loop oa the axs s 0.05 cm and .
0.20 cm and the ratio of the magnetic flalds at these points is 8 : 1 respectively, The curve of ellingham diagram is between:

Fined the radius of the lcop?

B AHvsT B. AGvsT
A tmm

Answer A Gl & ARvsal D, iNone
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e For a polytropic process whose equation is given by pv" = constant,
X is not equal to 0, 1 or v. Which is true? Answer - Molar Seat
Capacity (other options given in the question are also correct)

e A charged solid conductor having a cavity +q charge. What is the
charge given on the outer surface? Answer +q

e Circular coil of wire consisting of 100 turns each of radius 8.0 cm
carries a current of 0.40 A. What is the magnitude of the bat the
content of the coil? - Answer 32

o What is focal length of convex lens when image size is same when
object placed at 10 cm or 20 cm?

Physics




Chemistry

Monomer of Buna S - Answer 1, 3B & S
Which of the linkage is present in Glucose and Galactose present in
Lactose? Glycosidic linkage

More Questions Coming Soon
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